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3 + H
30 31
Hh H il > - v -

o AE () | 1 (%) mo () | A (%)
i 15, 750, 000 100.0 15, 750, 000 100.0
1 T 5,315, 606 33.7 5,317,614 33.8
vl 1, 333, 211 1,296, 771 .2
IE B OBl oHh 23, 817 23, 817 .2
EcR: | 9,619, 567 61.1 9,661, 115 61.3
— Rk EE M 7,276, 467 46. 2 7,358, 221 46.7
E E £ 1,561, 459 9.9 1,519, 336 9.6
JE B OBi Hb AE 781, 641 5.0 783, 558 5.0
I 29, 217 0.2 28, 765 0.2
IE B OBl oHh R 22,147 0.1 22, 147 0.1
JfE FeEL i 414, 292 2.6 408, 173 2.6
g foE o 147, 980 0.9 134, 532 0.9
ZF DAh, o> e Fiei iy 132, 024 0.8 140, 725 0.9
JE B OBi Hb AE 134, 288 0.9 132,916 0.8
Z DA 4,353,713 27.6 4, 355, 176 27.7
IE B OBl Hh 4,353,713 27.6 4, 355, 176 27.7
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(FFL D
2 3 4

o A (m) | Ok (%) i A () | Rk (%) i A () | R (%)
15, 750, 000 100.0 15, 750, 000 100.0 15, 750, 000 100.0
5,321,398 33.8 5,321,982 33.8 5,278,772 33.5
1, 266, 742 8.0 1, 236, 883 7.9 1, 198, 660 7.6
23, 003 1 22, 259 .1 23, 049 .1

9, 687, 029 61.5 9,713,013 61.7 9, 755, 336 61.9
7,412, 900 47.1 7,462, 570 47.4 7,487,510 47.5
1, 487, 809 9.4 1,471, 200 9.3 1,483, 443 9.4
786, 320 5.0 779, 243 4.9 784, 383 5.0
28, 503 0.2 28, 371 0.2 26, 579 0.2

22, 146 0.1 22, 288 0.1 22, 288 0.1
409, 006 2.6 404, 351 2.6 398, 692 2.5
134, 305 0.9 134, 225 0.9 134, 225 0.9
143, 492 0.9 139, 316 0.9 186, 148 1.2
131, 209 0.8 130, 810 0.8 78, 319 0.5
4,358, 720 27.7 4,367, 382 21.7 4,370, 733 27.8

4, 358, 720 27.7 4, 367, 382 27.7 4,370, 733 27.8




3+ H

(3.9.8)
3B TR (%) | KR (%) | i fE (ha) | RERLEE (%)
4 1585. 0 100. 0

30 50 4.9 0.3
ﬁ égiﬁq% E 40 80 560. 6 35. 4
50 100 261. 4 16.5
MK )8
R b 50 100 6.1 0.4
30 100 22.5 1.4
g%g;@ﬁ 50 150 148.3 9.4
60 200 203. 1 12.8
50 100 3.4 0.2
ﬁ%%%@ﬁ 50 150 2.1 0.1
60 200 58.0 3.7
R M 60 200 62. 6 3.9
60 300 2.4 0.2
B A JE 60 200 10. 6 0.7
¥R 60 200 68. 4 4.3
80 200 26. 4 1.7
T W P 3E M Ik 80 300 42.3 2.7
80 400 2.7 0.2
80 200 0.3 0.0
R 17 80 400 19.1 1.2
80 500 7.2 0.5
60 200 48. 6 3.1
¥ L Mg
60 300 2.1 0.1
T ¥ M % 60 200 21.9 1.4
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